(DICS31)

Total No. of Questions : 10] [Total No. of Pages : 03
B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. - 2016
Third Year
SCIENCE & CIVILIZATION
Time : 12 Hours Maximum Marks: 50
SECTION - A

0l
02)
03)

04)

05)

006)

Q7)

Answer any two of the following in sixty lines (2 x 13 = 26)

Explain the contribution of Pythogoras to the mathematics.
¢56885 o) @I QS DPSBR D O IS HTFD.

Write the history, synthes and drug action of penicillin.
DYDS G0, OB, GBS HOADO FHPEOBD HHOOSOE.

Explain the following

a) Insulin b) Cortisones
808 00 HHO0TS0%.
a) SISV b) SIS

Write about the NPK fertilizers.

NPK 0800 65508 S50w50s.

Explain bio-war
2355 oPoTTR]) HBHO0TSO.

Explain non-conventional energy sources with suitable examples.
DPODNTADBG B SHEOOED HHOOSOG.

SECTION -B B x4=12)
Answer any three of the following

Write short notes:

a)  Camera

835

b)  Antiseptics
Doe3E

c)  Radium therapy
S&oo D8

d)  Detergents
&eagoeSen

e) OTEC

OTEC



f) Green Revolution
5008 DHHO

g)  Hybridization
DOBHESEaz0

h)  Gizah pyramid
Bezo 150G

1) Compass
Borpr (B83D)

SECTION - C 3 x4=12)
Answer all Questions

08) Fill in the blanks
a)  Permissible Noise levels at sensitive areas .
ROQYBROD DB TOS® HATOOTWORDS T BB LD

b)  M.S. Swaminathan is associated with
D, DO QDB BOSP BODOGDHR0 DT,

c) Narcotic drugs meant for
S0BBDA0T Bayween @03

d) DDT was discovered by
CC6€3 DD BR0GRE0

09) Choose the correct answer
a)  The Heart of the computer is

i)  Key board

i) CPU

iil) Mouse

iv) Printer

i) 8oty

ii) CPU

i) &30

v) 3oed

b)  Naturally Occur Vitamin,
i) Vit-C
i) Vit-A
iii) Vit—D
iv) Vit—B



1) &S -2
i) S - D
iil) S - &
V)  e0S - &9

c)  Fat soluble vitamin

i) Vit-B
i) Vit—C
iii) Vit—A

iv) Vit—A&D
1)  De0S - &

i) &S - D
iil) ES - D

V) &S - oot &
d)  Which substance is used for blasting

i)  Rubber
i1) Steel

iii) Nitrate
iv) Dynamite

S) DRTRY D B8 @HC3TARRD.

) b

i) Q&

iii) D&e5
V) Q53065

Q10) Match the following
a)  Eutrophication

b) PV cells
c) Satellites
d) DDT

a)  OXeestHENS
b) PV goéoseen
C) eDFIsen

d) aaes

++ +

Pesticide
Communication
Ponds

Solar energy
80DOTEEse0

0ATPTIOS DODSTIVEIID
DO
05



(DBMATS31)

Total No. of Questions : 12] [Total No. of Pages : 04

B.A. DEGREE EXAMINATION, DEC - 2016
Third Year

MATHEMATICS - 111

Rings and Linear Algebra
Time : 03 Hours Maximum Marks : 80

SECTION-A (8x4=32

Answer all questions.
FEach guestion carries 4 marks.

Q1) Prove that a field has no zero divisors.
BBH0HE ATS, 370350e0 B W TIPEED.

02) IfR is an integral domain then prove that R[x] is an integral domain.
R 208 gpmeos 330 @ R[x] Srwe rgeo8 HB3500 w55)&0.

03) Express the vector o =(1,—2,5) as a linear combination of the vectors e
= (19 19 l)a €= (19 29 3) and €3 = (29 _19 1)
a=(1,-2,5), ee=(,1,1),e=(1,2,3) oo e; =(2, -1, 1) oond a &
€1 ,6), 63 DT 220 HDOAIT0Te 83°0300800.

04) Let U(F) and V(F) be two vector spaces and 7 :U — V' be a linear transformation,

than prove that Null space N(T) is a subspace of U(F).
U(F), V(F) e Boto @008 coween. 1 :U =V &8 aawer 0550550, @ansd U(F)

B8 35,8 @o0edo N(T) edrosoeo @ wire)an.

5 3 14 4
05) Find the rank of the matrix A={0 1 2 1].
I -1 2 O
5 3 14 4
A=10 1 2 1| 08585 5530 8062:050.
I -1 2 O

3

1
06) Find the inverse of the matrix 4 = { 2} by using Cayley — Hamilton theorem.



3 1
89 - eQad Repomeg) GHA3RB0D A= { 2} BRBEL &e’iﬁmg B088,08.

07) If a,p

are two vectors in an inner product space V(F) then

o= I + [+ I =2(J + 18I )-
28880 F 2 V 8 @osgenposoeto, o, f €V eonsd
o= I + [+ I =2(J + 15[ )-
08) Find a unit vector orthogonal to (4, 2, 3) in R*(R).
R*(R) o5 (4,2, 3) ofimes 008 0eEo Sbo6e0550.

Q9) a)

b)

if)

i)

SECTION-B (4x12=48)
Answer all questions.
FEach question carries 12 marks.

Prove that Q[\E] = {a +b32/a,be Q} is a field with respect to
ordinary addition and multiplication of numbers.

oGSt DOBODBHL, (DLSIBBL P Q[\/E ] = {a +b\2/abe Q}
8850 & STYHW.

State and prove the Division Algorithm in polynomial rings.
“art55388 TRV D HHDOD DEFRO0TS0H.

OR
Prove that every Boolean ring is commutative.

28 22099 ODNA DOOADHHD HDOD FOODHO WEDHBDOLD TITP)D.

If f(x)=2+43x+4x>+2x", g(x)=4+2x+3x" in Z[x] then find
1) deg[f(x)+g(x)]and

2)  deg[f(x)-g(x)]

Z[x]e8 f(x)=2+43x+4x" +2x°; g(x) =4+ 2x + 3x" 0 2sm00c0e0

00D
1) deg[ f(x) + g(x)] soo0to
2)  deg[f(x) g(x)] oo s5085,08.



010)a)

b)

011)a)

Let W be a subspace of a finite dimensional vector space V(F) then
. (V : :

prove that dlm(W] =dimV —dimW .

V(F) o008 ooseosceso. W OV  GBIOBTEO  WANS

dim(%) =dimV —dimW e 5ses»sm.

Let U(F) and V(F) are two finite dimensional vector spaces then
U(F)zV(F)< dimU =dimV . Prove it.

U(F), V(F) 0808 sosmen dacosceseocns U(F) =V (F) sesweds
dimU =dimV o3& s 85000, Hovsswe.
OR

Let V(F) be a vector space and W < V. The necessary and sufficient
conditions for W to be a subspace of V are

1) aeW.,peW=a-LeW.

2) aeF,oeW=aaeW

V(F) a8 o0scosoego. Wl o3 5385 008, V 8 W
€POBOPEO BEDSE 88 FOO (50,00 SDFBEHIT0, HDTRH0Te.

1) aeW,peW=a-LeW.

2) aeF,oeW=aaeW

Let T:V,—>V, be defined by T(x,y)=(x+y,2x—y,7y) . Find
[T:B;, B,] where B; and B, are the standard bases of V, and V.
T:V,-»>V, T(x,y)=(x+y,2x—y,7y) ecna [T:B}, B,] &
BB0G°H050. 88,55 B, By @0 530 0550060 esgrooeen.

1 -1 3 6
Reduce the matrix A={1 3 -3 —4| to the normal form.
5 3 3 11

1 -1 3 6
A=|1 3 3 4| 50855 900 ERHOSS 58 0.
53 3 11




b)

012)a)

State Cayley — Hamilton theorem. Verify this theorem for
2 1 2
A=|5 3 3
-1 0 2

2 1 2

8D - oS Rupososy HHDowEw. oo A=| 5 3 3

-1 0 2

D0eBBL> B8 ?’omgomg 0O TATEEIDD.

OR

Find the eigen values and the corresponding eigen vectors of the matrix

6 -2 2]

A=|-2 3 -l

2 -1 3

(6 2 2]
A=|-2 3 -1 SRBBLD OGS Denden  HOOTL DT

2 -1 3
B506°0800.

5 6 8

Show that the matrix 4 =0 7 2| is a diagonalizable matrix and find

0 0 4

the diagonal matrix.

3 HPBE A B HBEHOHB HOZOTSOG. HIOOTD HBY HIPBEK BH0GHIHD.

State and prove Cauchy — Schwarz inequality.
858 - Do, 58 VDVBIRSBDO PHDOD), DEFPRDOTOL.

The vectors «, f of a real inner product space V(F) are orthogonal iff

o+ I =l + 181"



V(F) 28 3005 0030 @085 ©RpoBoeso. o, ff 08dn @0 OO0

"+l

2
DD SBLE HosEHS dovsosw o + B =|a

OR

In an inner product space V(F), prove that HO!+ ﬁ“ﬁ“a“+“ﬂ“ for all
a,fel.

V(F) wosgerosostiin. wons a,f €l ocnd Ha + ﬂ” < HO{H +Hﬂ” O
BFHOTIIRAD.

Given {(2, 1, 3), (1, 2, 3), (1, 1, 1)} is a basis of R®, construct an
orthonormal basis.

RPe® {(2, 1, 3), (1, 2, 3), (1, 1, 1)} esgrotision @and, &8 08000
B850 D,0t508.

EEE



(DBMAT32)

Total No. of Questions : 12] [Total No. of Pages : 04
B.A. DEGREE EXAMINATION, DEC- 2016
Third Year

MATHEMATICS -1V

Numerical Analysis
Time : 03 Hours Maximum Marks : 80

SECTION-A (8x4=32

Answer all questions

All questions carry equal marks.

Q1) Evaluate
a) A(e*log3x)

2
b) A( al ] DeNBOL B0E5,08.

CcOS2x
02) Show that A—V =67
A -V =5 @0 50508,

03) Given that

Find the value of V’ Vs

D HPESD PenBOTH GHAIPR0D V'), Hendio Bx085,08.

04) Find the value of @, b, ¢ so that y=a+bx+cx’ is the best fit to the data.

88808 Seweodsn Y =a +bx + CX’ B0 S0 a, b, ¢ DenSeDd B508%,08.

X 0 1 2 3 4




05) a) Write Bessel’s interpolation formula.
BRY ©OBT TS DIPTOBI TOHOE.

b)  Write Stirling’s formula.

QOB 0BT TS KR TPOHOG.

1
06) Evaluate '[ cosx dx using i = 0.2 by Trapezoidal method.
0

1
h=02 o 8:08°%0 [0 X dx Hensid erpBemonis HE6 @y SB0H0s.
0

07) Show that V = E7'A &8 wmH0é.

08) a) Write Boole’s and Weddle’s rules.
Boole’s svoan Weddle’s ©abansins apaosn.
b)  Write Runge-Kutta fourth order formula?
000 - Brege e’ HOHTRE KIPEBHNE) TeaDHO.

SECTION-B (4x12=48)

Answer all questions.

FEach question carries equal marks.

09) a) i) Find a real root of the equation x’—2x—5=0 by using Newton-
Raphson method.

S7S-00YS HEO® HATRBoD X’ —2x —5=0 DEoSSwED B0, &8
TN BaTeereq) B0E5,08.

ii) Find a real root of the equation cosx =3x —1 by using iteration method
correct to three decimal places.



b)

010)a)

b)

011)a)

QDD HEB wogoe COSX =3x—1 By, Horesngd 0w BTN
@(gééooe) BB PBOMe B0GP00.

OR

State and prove Newton’s formula for interpolation.

B73£0S 0BT D DIRBHNH DHDOD) DETRIOTIED.

i)

i)

o
N

i)

Evaluate f(x) using Taylor’s series for f(x) if
f(x)=x"-3x>+5x-10.

f(x)=x"=3x"+5x—10 ocns, Sob FBO 6HABRBoD f (X) Hensso

Find a real root of the equation xe* =1 using Ramanujan’s method.
xe" = 10308, 28 305 H00eg) CoBmIRS DEBD SDARA0D B850
OR

State and prove “TRAPEZOIDAL RULE”
§‘zbaaam§e’5‘ DOHHIRG DFDOD DERBHOIO.

Apply Newton’s divided difference formula to find the value of £ (8), if
() =3,f3)=281,f(6)=223,/(10)=1011 f(11) = 1343.

B8 Dayeses S5 DoeEed) BdA3Rdod, f(1) =3,/ (3) =81, 1(6)=223,f
(10) = 1011 f(11) = 1343 00055, f(8) Sendsd 85085,08.

6
d. .
Evaluate '[ al ~ by Simpson’s 3/8 Rule here n = 6.
o 1+x
¢ dx
[ 5 ®n=6350085 318 D o0e 55%08,
o 1+ X

Fit a curve of the form y =ax” to the following data



3 STOFED D00 ) = AX 00 SBBNTO TR0,

OR

b) 1) Solve the equations by using Gauss Elimination method
Sx—y—-2z=142;x-3y—-z=-30;2x—y—-3z=-50.
D DEOBBEHVOB (o0 SOB0EY HFB o500 DO TDHD.
i1) Solve the equations by Gauss-Jocobi method
20x+y—-2z=17;3x+20y—z=-18;2x -3y + 20z =25.

3 DOOBBEBVOT (PR -2308% DHEB o 00 DPOOTHAD.

d
012)a) Given d_y =y —x with y(0) = 2 find y(0.1) and y(0.2) by R.K method when
x
h=0.2.

d
P =y xsmeam 1(0) =2 @owss® RK 58 cogo0 1(0.1) swoomo 1(0.2)

dx
o0 h = 0.1 5 E508%,08.

OR
: _odt : :
b) 1) Given d_ =x"+y with y(0) = 1; find »(0.4) by Euler’s method Taking
X
h=0.1.

dt
h = 0.1 8080 y(0.4) & sonef HES w0, d—=x3 +y, ¥0) =1
X

@QDé%C@D Bo0620000.



i1) Using Picard’s method to obtain y for x = 0.1 &0& 0.5 here 42 = 0.1 for

d
the differential equation d—y =1+ xy with »(0) = 1.
X

d
d—y:1+xy,y(0)= ] @o0558 y @ x = 0.1 o0& 0.5 S5 h=0.1 5
X

D55, DB o TP BHOGEOD.
® [

EEE



(DAPOL 31)

Total No. of Questions : 18] [Total No. of Pages : 3
B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
POLITICAL SCIENCE - 111
Political Thought
Time : 03 Hours Maximum Marks :80
SECTION — A
Answer any two of the following 2 x10=20)

Q1) What are the ancient source of political thought?
DS 858 B8BTS 50 SERTHNOD DHOOTHHD.

02) Ancient political thought is more useful to modern political thought. Discuss.
TS 3758 ComdBEBBE0 DWOBO Bo&S <G08 DB, SIEHOD 70335, DOTHHV.

03) Explain the state and society according to Kautilya.
ToRDBD, DD, TRVOBHND S2e3e0Q0 3PP HHDOTIED.

04) Write about Gandhiji’s views on Satya and Ahimsa.
088,80, @370 (P0HE PO HBOOTHD.

05) Nehru’s thoughts on Democratic Socialism.
8ePV51)0) DEJATR 3IPTPVD HBHDOTIIED.

06) M.N.Roy’s Radical humanism. Discuss.
M.N.0205%0 D80S 530555 53055003 5305 FOTOD.

SECTION - B
Answer any three of the following 3 x8=24)

Q7) Discuss the Plato’s ideal state.
05 &8, DTPOBHDD PHBHOOTHEW.




08) Write about the Aristatil the best practicable state.
©OPE3S G550 BT 58, 0a3H0H) HBOOTIIAD.

09) Describe the Hobbe’s theory of Sovereignty.
K)agg G5E3°5000E508 TIVOBHND HHDOTIDHD.

Q10)Discuss the Locke’s Natural rights.
@05 {Iees 5050, TRVOBHND HHOOTIED.

Q11)Write about the Rousseau’s theory of General will.
B 3% RT0BH0H HOEDOTHIAD.

Q12)).S.Mill’s theory on liberty. Discuss.
foo.—)xg:’.z B.0D0. D05 830D BVEYHN.

SECTION - C
Answer any three of the following B x4=12)
Q13)M.N.Roy.
DO.D®. TeOD.
Q14)Citizenship.
DB
Q15)Human Nature.

BIDED KgaTHBD.

Q16)International view.
®OBTBOLD TOC5HW.

Q17)Non-Cooperation.
DDBOHOTPBTES 54505500,



018)a)

b)

SECTION - D

Answer the following in 1 or 2 sentences:

i)

Vi)

Vii)

Laws.
.

Polite.
o3,

Chanakya.
TIVEIBEI L.

Prince.

-

Social Contract.
Vo703 2565020858,

Science of logic.
03 e85 o225,

Moderators.
&,

viil) Justice.

;0D TOY.

ix) Socrates.
D65e3%.

x) City States.
OOE 022355300.

Answer the following in 1 or 2 words: (any four)

1)  Revolution.
DHBH00.

i1)  Philosophy.
BB, 50.

ii1) Socialism.
ISR Lalel

iv) General will.
835§ RTROBHD.

v) Natural rights.

00 K)aéaare)o.

(10 x 2 =20)

@x1=4)



(DAPOL 32)

Total No. of Questions : 13] [Total No. of Pages : 3
B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
PS -1V(E)
Government and Politics of Andhra Pradesh
Time : 03 Hours Maximum Marks :80
SECTION - A

Answer any two of the following

Q1) Explain the Indian federation.
3G DTG (370 HHOOTIEIN.

02) What are the powers of the state.
m@m O3008,; SIS0 HBHDOTIOED.

03) Write about the role of Sardar Vallabhai Patel in the formation of A.P. State.
SO 0°F) BBSBS® D0RS HegHow HES TGO HHBOOW.

04) What are the powers of the Governor?
ﬁaﬁgcia AOSBHNOD DBDOTHIAD.

05) Write about the State Executive.

03@ 5055002553963 T (3708 5720H00&0.

SECTION - B
Answer any three of the following

06) Write about the role of Regional Parties.
PoBOD Hede e HBOOTHEH.

07) Explain the role of the State Election Commission.



0 @Qée) D03V VRSB DDOTIAND.
& N

08) Discuss Law the Telangana is formed.
B0 BDHTRHHN (3528 5300H0&.

09)Explain the powers and functions of Judiciary in the state.
03@ R, QD TP WHSITHNOD HEVOD HBOOTIVE.

Q10)Write about the Regional Political Parties.
PoBoD Hpdeidd 5708 HBOOTNHWD.

Q11) What are the powers of the Panchayat Raj System.
DOTIPONS 0o HHD VPSITENOE DBOOTHEAD.

SECTION - C
Answer any three of the following

Q12) a) Panchayat raj.
DOTIPONH TS,

b) Chief Minister.
300G BOOB.

c) Peasant Movement.
BeBo00s €363580830.

d) Left parties.
3030 DZPEV.

e) Governor.

f) Pressure groups.
208 HTReD.

g) Telugu Desam.
BenhH BFO.

SECTION - D




013)a)

b)

Answer the following in I or 2 sentences

i)  High Court.

370855,

ii)  Voting Behaviour.
&¢306H DEB.

iii) Telangana.
SDOIPED.

iv)  Tribal Movement.

BOED €5,5505500.

v)  Election Commission.
OPBO 80DS8.

vi) Speaker.
0870,

vii) President Rule.

o0 PO,
&

viii) Amendment.
DDSE3.

ix) Constitution.
00230, O3530.

x)  Caste Politics.
BeooesdoLien.

Answer the following in 1 or 2 words.

i)  Panchayat.

DOTIPODHS,
ii)  Chief Minister.
0000,
iii)) Legislature.
B STD.

iv) Independence.
VR BOB 3.



(DAPOL 33)

Total No. of Questions : 12] [Total No. of Pages : 3
B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
PS —IV(E) : International Relations
Time : 03 Hours Maximum Marks :80
SECTION — A
Answer any two Questions 2x10=20)

Q1) What are the causes of 1% world war?
Bo0E5E3 HDOTS OTOGBNHED S2BEIOL0?

02) Write about the Nature of the International Relation.
©0BTB0D DOLOTPOD (572 F2OTIED.

03) Write about the League of nation.
00002308 AN dﬁg SDHD.

04) Explain the role of UNO in promoting international peace.
©OBTB0D Fo0S ST DE00e; DO FPBBI HHOOTHHL.

05) Discuss the Non-Aligned movement.
DD €¢5,B0BNH 5728 TT2OTOFD.

SECTION - B
Answer any three of the following 3 x8=24)

06) Write about the Foreign policy.
DB B0 DEDHNED DHOOTHHN.

Q7) Write about the 2™ World War and its causes.
308 ‘é)éoﬂs Qich 505£330000 SVNA.



08) Explain the organs of UNO.
8BTS TIPORD HBHDOTIOND.

09) Write about the disarmament and Arms Control Programme.
D0P0HOOESED 5728 258 EgHEBNO TpOKOZHD.

Q10)Explain the Decline of USSR and its impact on World Politics.

D00 Ceadarped? Sap, Dol DORIXDBLCDEED SoSEBREOED.

011)a)

b)

g)

SECTION — C

Answer any three of the following

International relations.

@oéogéof) Hoogeen.

Colonialism.

DODVEIO.

Versailles treaty.
5§§ DOB.
League of Nations.

oor0a3eed DO,

World peace.

‘é)‘&)oﬂs Bo08.

International peace.

@oéogéof) FOOH.

Foreign policy.
DB B0 DD,

(3 x4=12)



012) a)

b)

vi)

vii)

viii)

iX)

X)

Answer the following in 1 or 2 words:

1)

SECTION - D

Answer the following in I or 2 sentences

Disarmament.
DTPODOESES.

Regional.
ooBoDHEBB,E0.

Prospectus.
DBEES.

Modern State.
B80T 02235530.

World War.

HHOTS A,
Organizations.
éééK@).

World Politics.
DD ceadaseen.

Cold War.

DI OIS0
U.S.Relations.
ORDOSe DODOTICD.

Non-Aligned Movement.
DD €54550550.

UNESCO.
O0RDe,,

NIEO.
DD.80..5.
World War.
DHOS OPOLIED.

ASEAN.
D.DV.D.DD.

(10 x 2 =20)

@x1=4)



(DAPOL 34)

Total No. of Questions : 14] [Total No. of Pages : 3
B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
PS —IV(E) Public Administration Concepts & Theories
Time : 03 Hours Maximum Marks :80
SECTION — A
Answer any two of the following 2 x10=20)

Q1) Explain the relation of public administration and Economics.
esgé BODENVDED DGO B T B DODOLEHNOD DBHDOTIED.

02) Define the public administration and its scope.
DD PO FOHHNED HHOO) LD DO HBOOTIDD.

03) Write about the Behavioural approach.
DB 5565830080 HHOOTIDED.

04) Explain the Herbert Simon’s ecological approach.
ESLele) :&zaﬁoé DT2HTED €HBEHND HHOOTIIHD.

05) Write about Waldo’s development administration.
5@3%&@680& 92D 8) DB PODD NBOOTIHAW.

SECTION - B
Answer any three of the following 3 x8=24)

06) Write about theory X and theory Y.
& DTVOBHD SH0OADN S WROBBN HHOOTIE.

07) Explain the Weber’s Bureaucracy.
Dedtsy AB0E,, €E8,5R0,5E0HD HBOO T,

08) Explain the Division of works.



DR FBBDO (5708 208 8335700 572QT0ED.

09) Discuss the decision Making.
DGOH BN BD0E2H0 15708 TPOTOW.

Q10)Write about the line and staff agencies.
B 55000D o 5@@ 5508) T3PQOBD.

Q11)Write about the centralization of powers.
58 BoB5e RITROBHNH) HBOOTHBL.

Q12)Write about the Delegation of legislation.
BIDIESIS0RD (3308 DSHOOTIHD.

013)a)

b)

g)

SECTION — C

Answer any three of the following B x4=12)
Developing Countries.

©eI)E) DOLIBIY B3ToeD.
Human relation.
AT ODOTIPLD.
Bureaucracy.
85D 30,300.
Development.
DY

Sociology.
QVP0IE ToHIIN.
Line agencies.

S 3)@@@3.
Decentralisation.

&éo@édea.



014) a)

b)

SECTION - D
Answer all Questions

Answer the following in 1 or 2 sentences.

1)

Vi)

vii)

viii)

iX)

X)

Answer the following in 1 or 2 words (any Four):

1)

Coordination.
DB ODE0.

Theory Y.

& DTIROBHW.
Management.
DB 33083.

Planning.
DEFBS.

Hierarchy.
ER550:50¢585 JeS.

Span of Control.
DODOSBEFD.

Centralisation.
goé)édea.

Classic approach.
DOHTRAD ?oogome)o.
Public administration.
DB PO TOHDD.

Authority.
SBD.

Unity.
DB,
Organisation.
56655*’(8.
Command.
e3e3.

X
Planning.

é)eseegé.

Communication.
é)@acfaﬁoa.

(10 x 2 = 20)

@x1=4)
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B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
ECONOMICS - 111 (E)
Economic Statistics

Time : 03 Hours Maximum Marks : 80

SECTION-A (2x15=30)
Answer Any TWO of the following.

Q1) What is the importance of Statistics in Economic Analysis and Economic Activity.
S5 DD OO BYE BTG ($EF0BTIY (De0gE FIYO) A0, oGS
D807

02) Explain the significance and limitations of index numbers?
RD02E) DO FpENYPEN FBOATD DOVBIVI HBOOLY L.

03) Calculate mean for the following series:

Marks: (Less than) : 10 20 30 40 50 60 70 80
Frequency : 03 14 31 56 78 88 96 100
DD SBAOFBNDE BOBBOSH0BNB0 BB,0508

BP0 (BoE3 BERH) : 10 20 30 40 50 60 70 80
ELIREDERSWY : 03 14 31 56 78 88 96 100

04) Calculate Karl Pearson’s coefficient of correlation and find the two regression on
lines for the given data.

X : 42 44 58 55 8 91 96
y : 56 49 53 58 65 76 58



ODBOYD  E5820-E0005E0 sagzbo:i)g{s DTPDOVOL DBV 0OOTD  HAC50D

BP0 BH0EH0E.
X : 42 44 58 55 89 91 96
y : 56 49 53 58 65 76 58

SECTION-B (3x10=30)
Answer any THREE of the following.

05) What is Tabulation? State its objectives and also make a table showing it various
parts?

538556 ©BIPBN0? T FOTPOD BID HEFBESED DS §ITPORD WHRDOH.

06) What is time series? Explain its essential characteristics.

SPOFEB BTPBN0? TPRIGINEG, HOPZRID OFETOD HBOOLYIHD.

Q7) Define Standard Deviation? Compute Standard Deviation for the following data.
X 0-10 10-20 20-30 30-40 40-50 50-60 60-70

F 1 4 17 45 26 5 2

@amﬁé DEIODHD DTEDOTDHN? DD DD L5eF20TB0DED @ao“aﬁeﬁé DTIVHR0

X 0-10 10-20 20-30 30-40 40-50 50-60 60-70
F : 1 4 17 45 26 5 2

08) Calculate Karl Pearson’s coefficient of skewness from the following data.

Marks : 40-50 50-60 60-70 70-80 80-90 90-100 100-110 110-120

Students: 5 6 8 10 25 30 36 50



9)

Marks : 120-130 130-140
Students: 60 70

sag‘zbo:i)gcs éo“qéoﬁ {DEBBDE0 QN E5E320FHD0 SO0 Bé&o{)o&.

o“aoed)&e)o .40-50 50-6060-70 70-80 80-90 90-100100-110 110-120 120-130
130-140

33(;)315('58&) 608;)15: 5 6 8 10 25 30 36 50 60
70

Compute Fisher’s ideal index from the following data and show that it satisfies both
the reversal tests.

Items Base year Current year
Price Quantity Price Quantity
Food 20 10 60 6
Clothing 15 15 40 10
Housing 5 20 15 10

QNS S5BOSHD 0D PNS B8&5Y, D7 DOYPD 88,00 @O B0 DOBID DOFOLD
QORVEIBIOESD 22NV WODHO.

DO 85 HOBDBSO DV HOBHTO

ele) DODTPEI0 ele) DODTPEI0
833880 20 10 60 6
BP0 15 15 40 10
|(§a)o“)aéme>o | 5 20 | 15 10 |

Q10) Fit a straight line trend by the method of lease squre to the following data.

Year: |2009 |2010 |2011 |2012 |2013 |2014 |2015 |2016




Profit: | 76 80 130 144 138 120 174 190
(in’000)

EDE E5BIOFRNDED BAY) 502 écg@ D DB B0 DOGTOTHAD.

DoBGSO : 12009 | 2010 |2011 |2012 |2013 |2014 |2015 |2016

evgroen(in’000): | 76 80 130 144 138 120 174 190

SECTION-C (5x4=20)

Answer any Five of the following.

Q11) Explain four uses of statistics.

OIS FOHO O30T, @ém DRV GBI DHDOONED.

Q12) Write about two dimension diagrams.

55708 5P, (diagrams) 508 s30T 0.

Q13)What are the uses of Arithmetic mean.

OBEDLFHOBD G0, SHCATTPTn DD ?
Q14)Write the merits of mean deviation.

3053330 HTIODHHN G308, DO3TPBPOTD TPATODD.

Q15) Explain the importance of correlation.

Q08I0 OO0 B30T, PTIPHB0 DHOO)BV.

016) Components of a time series.

oGS G0, HTROBL0D.

Q17)Uses of Index numbers.



RD02E) DO GDA3TPTP.

Q18) Measures of central Tendency.

éoé@(gé S2e8500.

EEE
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B.A. DEGREE EXAMINATION, DEC-2016
Third Year
Economics -III: (E) Public Economics
Time : 3 Hours Maximum Marks: 80
SECTION-A 2x10=20)

Answer any Two of the following questions
DB Botkd DL DBRGPD TODOS.

Q1) Principle of maximum Social Advantage.

(505 DOZE HOITED DIBHD.

02) What are the Merits and Demerits of Progressive Taxation.

T OLIQLT:N ) D 308, F50BEPEPO DBOONSW.

03) Examine critically the cannons of Public Expenditure.
é)e,ibé% 556053 Klﬁg?e)éo 0T, 008,807 HOEDOHBW.
04) What is shifting of taxation? What are the ways of shifting of a tax?

ééog 2E5700008) BTPRD ? é@ 2057200 IO 3330020 D7

SECTION-B (3x15=45)
Answer any Three of the following questions.
DB B7eEd DI DHTPGOTHEN TP,

05) Explain the characteristics of a good tax system.
V0D é@@ TRBO A308) VFEFORD HHIDOTIOED.
Q6) Peacock — Wisemen hypothesis theory.
DB - OIS HOBYS DB,
07) Explain Redemption methods of public debt.

é)aibé% 200089 HRAIPTID écgéoe)o DOO)NN.



08) Trace out the growth of present tax system in India.

gOBBB TS HRB HYO H,50 VDD HHOCLYHD.

09) Explain the effect of public expenditure on production and distribution.
&858 HoDBOP HHEB 55,000 HPBHDEB HBOODVED.

010)Critically examine the Centre — State Financial Relations.
8ogs - CREPO B0 150 B DODOGRODO HEOL,TB,E0T DOEDOYED.

SECTION-C (3x5=15)

Answer any Three of the following questions.
DB B350 DI DB,

Q11)a) Value Added Tax (VAT).

o9

2509, OCEs DY (D0 SLPOB DY)

b) Various types of Budget.
DG B a)gef

c) Sources of Public Revenue.
DeHSB; Toeals B5°03.

d) External Debt.
20370838 2200E30.

¢) Exim Bank.
DS 23,080.

f)  Canon of Benefit.

DA37EHD DOIDE0D.
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B.A. DEGREE EXAMINATION, DEC- 2016
Third Year
ECONOMICS -1V
Rural Development

Time : 03 Hours Maximum Marks : 80

SECTION-A (2x10=20)
Answer Any TWO of the following questions.

Q1) What do you understand the word Rural Development? Also state its concept
briefly.
Qagbeaae&ée)fg O DY DD PPV ? BOOADD RD  OI0E, §RHDD BIVOTP
BOODHEOTOH.

02) Explain the meanings of Cottage and small scale industries. Also state its
importance.

5636 OO VDHPBEDE HOFHO ©TO HHOOSOB? LHOOL @eed GING, ATeRIBD0

BeDNo.

03) What is the scope of Antipoverty Programmes? Write a brief note on Antipoverty
programmes for weaker sections.

DEOE DER,@Te DS GINE, HOY DYO? DN BOROL (o) BRBOTOGD DSOS
DBIR,O° DO 51308 EDOTP 53,0 53PADOE.
04) What is Rural Migration? Also state its impact on rural development.
38088 HODOD BTV ? FoA0ETRID 3 O G308, DIPDHNKI BOF0.

SECTION-B (3 x15=45)



Answer any THREE of the following..

05) What do you mean by Demography problems? Write an elaborate note on
Demography problems of rural areas.

B DOVODH DEVVED ODBTPBR0? FeOEs Fe0TOS® BTegR HOVOPS DEVVIOD
DIIBEIOD 9398 0D

)

06) What is the scope and content of Rural Education. Also state its importance.
T80 DGy DOY OO DROHHED (OF0) WBOPBRO? WD CINE, Do

SeaNao.

07) Elucidate the origin of Rural Development programmes. Also state the role of asset
based rural development programmes.

P0EPRIDE) DEFSeO 30, DEY DPOBOOD  DIDEOOOL. SO SRS

(asset based) G508 DS Hegsd BLVDHO.

08) What is the significance of alternative models of Rural Development? Also state its
practical difficulties.

P& PR O DETHROD HEBOO AZVY, FE0PS DP? WOLHS® T

BSEBOD RYOLIOKD BEVEDHD.

09) Explain the concept of surplus labour in rural areas? How to generate employment
opportunities to surplus labour?

728085 Fpomeee Q0rHED FED 3N, BRHBHI DBOOBN? DLV FEVEIOE) BN

(68545 ©B5S2TOD O LSO GBEBHBW SOOI ?

010) Explain the causes for poor economic conditions at rural labour in India? Also
suggest effective measures.

gPREBBI0S®  o&oese  FELEIED B0 BOE DORBOB P BO S5O0
BO0ENHND ? 03D EBROOTIHEIBD (oD éagaa)é@é IR TSH00 RDG0E.

SECTION-C 3x5=15)

Answer any THREE of the following questions.




Q11) Genesis of Rural banks.

38083 232,050 DHEYS.
Q12) District Planning Boards.
ooy @(gooo R0 (DeFBE) 5¥Hen.
Q13)Role of Self-Help-Groups in Micro Finance.
DIG DBO & D50HO DFBODE D008 &8

Q14)Agro based industries.

5,BTPALTGOB HOFTE0RD.

Q15) Gandhian thought.
‘00D’ e8e59tSD.

Q16) Minimum wage legislation.

B0 5D RDOHEBLE.

EEE



